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1. gRkG=8-4] 172 172 0
2. [Z]& A=A & 66,248 66,248 0
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3. [xxFTEAE 4,280 1,640 2,640
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2. g 1,565 1,565 0
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A | ] | AR | AR A7HE A H) = S S © el
(AHH 2F)AFAGTHEEI(53) 400 000
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3. 50125 4,452 4,452 0
1.[z]5oEE % 4,452 4,452 0
1.935% 4,352 4,352 0
2. A EA]H| 100 100 0
4. 728% 550 890 -340
LIZREZAILS 550 890 -340
1. 25291 0 230 -230 | A 2A P -230,0009%13]= -230,000
2. 855 H| & 550 660 -110| 2228 -110,0009 x13]= -110,000
4.9 W&y 55,868 33,582 22,286
194758 9 51,328 29,042 22,286
1. 9958 w8 2,000 2,000 0
1. [Z]ugzzad 2,000 2,000 0
1. 3529 H| 2,000 2,000 035 8s WSEE 1 296,0009#13]= 296,000
9 WADT TFY : -296,0009 #13])= -296,000
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2. A5G| 7,838 5,358 2,480| 25 B389 (stal) : 200,000 +13]= -200,000
(AEA2F) EENAAN(FH)
1,680,000
1,680,000 %12]=
(A FA_25) w A w793 (5-4]) 700000
100, 00091 x73]= '
(AHEA 25)0eds T2 (5%)
8 300,000
100, 00091 #33] =
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=
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%[W]W 1l kg A 2 28,698 13,382 15,316
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